— OB RRXBEEDOHITINE

SH6ESH N (B : )
XHH | XHIEB X HRABE X &%
8| 2| BE |FH 5,000
8| 2| =& |RE 10,000
8| 2| =E 2% 10,000
8| 3| & |REXGE 32,900
8| 5| ®BE |#tiE 16,500
8| 5| =HmE |#TE 20,350
8| 5| & |H4L 5,000
8| 5| = BH<E 5,000
8| 5| WmE |HES 20,000
8| 6| :E FH 10,000
8| 8| BE |FH 5,000
8| 9| & |[REXGER 9,758
8| 14| = E=3 13,000
8| 14| HmE |HES 20,000
8| 14| WHE |BEs 20,000
8| 15| Eft |#E 20,000
8|16 HE |FH 5,000
8l 19| HBE |FH 10,000
8|22 = E=3 10,000
8|22 = E=5-1 10,000
8|2| = E=3 7,000
8|29 = E=5-1 6,000
8129 & [|[REXGEHR 11,000
8| 31 BE (M 10,000

8ARNEE 291,508

SH6FEES RET 940,718




